EARAROBEEIERT — 2 N— IBISH —F

201951088H (&) 15@4R1H

mﬁgmi‘;{'%“ B12 #+7%—#& ‘ (Xf&] 7 ‘ [Emml - | & (B) 17000 Fi
[x&4£] 1%:310,000” ~ 2#%&:71,000”  33%&:37,000”  43%&:27,000M .~ 57 :18,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
A # 4 | MBET 1:50.8 1-1-1-1 | 39.7| — 2 473 | DIEEFIE (£0R)
118lg| 77/ 777> 56.0 o RN
RiFA—TANA Bii-—F- 4R
5 e 2 7 | KA 1:51.5 4-4-4-3 | 39.8| — 1 448 | DIEEFIE (£IR)
2011 7RTLT7=A K 56.0 3 RN E
RL:RTAMTZI BV TIHFRZ b IR
= ; 2 6 | BAK— 1:51.8 2-2-2-2 |40.5| — 7 473 | DIEERIER (£9R)
37| 7| 7AANMTLA 56.0 (1 1/2) Cy | W Tr-zbEYar
R:vavrhr7 B:RAv—F42V-> EX %Y K
SR 4t 4 | BRBAR 1:51.9 8-8-7-6 |38.7| — 3 480 | DNEERDZE (£IR)
4 WM 4 1vo>E—X 56.0 (3/4) 1) BRI
L R IYURIR B:T7FHFH—H—IL K45
L= 7 o5 | BRAA 1:52.0 5-5-5-3 |40.3| — 6 466 | BRI (£R)
5 Y 2 14y zZUa-X 56.0 (3/4) +1) NIEF
R:A-I>FUr BTREIETRNT HET7— L
== i 4 | HES 1:52.6 3-3-2-5 |41.3| — 5 448 | NII7RBAGL (£3R)
65 YU=77EX 540 ®) 3 | @ MIRA
8140 B:T757—k4 hilkse
N s 4 | BUIES 1:54.1 7-7-8-8 | 40.7| — 8 419 | IEELE (£R)
7N 3| PP —XT 32— ¢ 54.0 @ (-5) ’—‘?HIE&E
L:8=Z/F¥LLy b B:X¥XI-TU-X i)
1) g 44 | PEED 1:54.2 6-6-6-7 | 41.7| — 4 457 | BIERZ (£R)
s WY 6 A4 RE W Y 56.0’i (3/4) (-6) FER
R:7ROAXLTEL B XA AL ZX—" 1 IR
@ 1—F—@&BIEf
13=zr= 8,7,5,1,2,6,3,4
Aol=5r= 8,7,5,1,2,6,3,4
G§a=7r= 8,(5,7),1,2,6,4,3
41—+ — 8,7,(1,2),5,4,6,3
[ RN
B OB 8 590H 714K 1-8 330M B E 1-8 640M &R 1-7-8 4,420
8 B 8 150 7-8 2,410 B H 8-1 2,030 JEH 8-1-7 20,490/
1 1204 1-7 1,210
7 370M

ABICOVWTRDTEEERROODE. TR LIV,




